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Question1:-Mount K2 also known as Godwin Austin the highest peak in India is in the
A:-Siwaliks
B:-Ladakh
C:-Himachal
D:-Karakoram range
Correct Answer:- Option-D
Question2:-Who among the following was/were the economic critic/critics of colonialism in India?
(1) Dadabai Naoroji
(2) Romesh Chandra Dutt
(3) Gopal Krishna Gokhale
Select the correct answer using the codes given below:
A:-1 only
B:-1,2 and 3
C:-1 and 2 only
D:-1 and 3 only
Correct Answer:- Option-B
Question3:-New Delhi's Rajpath the road from Rashtrapati Bhavan to India gate is renamed as
A:-Janpath
B:-Shantipath
C:-Kartavya Path
D:-Rani Jhansi Road
Correct Answer:- Option-C
Question4:-Consider the following statements:
(1) The 1515 Five Year Plan in India was launched in 1951.
(2) M. Visvesvaraya is known as the architect of Indian Planning.
(3) 12th Five Year Plan is considered as the last Five Year Plan of India.
(4) On 15t January 2015 the Planning Commission was replaced by NITI AAYOG.
Which of the above statement/s is/are correct?
A:-1,2and 4
B:-1,2 and 3
C:-1,3and 4
D:-1,2,3and 4
Correct Answer:- Option-C
Question5:-Which among the following States has highest population density as per census 20117
A:-Bihar
B:-West Bengal
C:-Kerala
D:-Uttar Pradesh
Correct Answer:- Option-A
Question6:-Which among the following is/are the tributaries of River Periyar?
(1) Parambikulam
(2)  Muthirapuzha
(3) Edamalayar
(4) Mangalapuzha
Which of the above is/are correct?
A:-3 only
B:-2,3and 4
C:-1,2and 3
D:-1,2,3and 4

Correct Answer:- Option-B

Question7:-Which of the following pairs are correctly matched?

Work Author
1. Naalagamangal - V.T. Bhattathiripad
2. Advaita panjaram - Sree Narayana Guru
3. Kristhumata Nirupanam - Chattampi Swamikal
4. Jathi Kummi Pandit K.P. Karuppan

Choose the correct answer:
A:-3and 4

B:-1 and 2



C:-1,3and 4
D:-1,2,3and 4
Correct Answer:- Option-A
Question8:-Who is the recently elected, 3rd woman Prime Minister of the United Kingdom?
A:-Theresa May
B:-Elisabeth Borne
C:-Katalin Novak
D:-Lizz Truss
Correct Answer:- Option-D
Question9:-Which of the following statement is incorrect?
A:-Ayya Vaikunta Swamikal was the first to make mirror consecration (Kannadi Prathistha) in South India.
B:-Vaghbhatananda was the founder of Samatva Samajan.
C:-Thycaud Aiyya Swami founded the Saiva Prakasha Sabha at Trivandrum.
D:-Mar Kuriakose Elias Chavara established a Sanskrit school at Mannanam in Kottayam.
Correct Answer:- Option-B
Question10:-Mikhail Gorbachev, who passed away recently, was the former President of
A:-Denmark
B:-Netherlands
C:-Soviet Union
D:-Austria
Correct Answer:- Option-C
Question11:-Who is the father of Modern day computers?
A:-Dennis Ritchie
B:-Charles Babbage
C:-Alen Turning
D:-Tim Berners Lee
Correct Answer:- Option-B
Question12:-Which is the smallest unit of memory in a computer?
A:-Byte
B:-Nibble
C:-Bit
D:-GB
Correct Answer:- Option-C
Question13:-Which is an application software among the following?
A:-Operating system
B:-Compiler
C:-MS Excel
D:-None of the above
Correct Answer:- Option-C
Question14:-The main electronic component used in second generation computers was
A:-Transistors
B:-Vacuum tubes
C:-IC
D:-None of the above
Correct Answer:- Option-A
Question15:-How many bits in a byte?

A:-4

Correct Answer:- Option-D
Question16:-Google Chrome is a
A:-Web browser
B:-Graphics package
C:-Search Engine

D:-None of the above



Correct Answer:- Option-A
Question17:-What is the decimal equivalent of the binary number 11017

A:-11

D:-None of the above
Correct Answer:- Option-B
Question18:-What is the hexadecimal equivalent of the decimal number 15.75?
A:-15.75
B:-F.75
C:-F.C
D:-15.C
Correct Answer:- Option-C
Question19:-Which of the following natural element is the primary element in computer chip?
A:-Silicon
B:-Iron
C:-Uranium
D:-Carbon
Correct Answer:- Option-A
Question20:-Which of the following is an input device?
A:-Printer
B:-Plotter
C:-OMR
D:-vDU
Correct Answer:- Option-C
Question21:-How many bytes does 2 kilobytes represent?
A:-2048
B:-2000
C:-16
D:-512
Correct Answer:- Option-A
Question22:-What is the speed of computer measured in?
A:-Gigahertz
B:-Gigabytes
C:-Nanoseconds
D:-None of the above
Correct Answer:- Option-A
Question23:-What is the full form of SCSI?
A:-Standard Computer System Interface
B:-Small Computer Standard Interface
C:-Small Computer Systems Interface
D:-Super Computer System Interface
Correct Answer:- Option-B
Question24:-Which of the following is not an application software?
A:-Windows 7
B:-Adobe Photoshop
C:Tally
D:-MS Excel
Correct Answer:- Option-A
Question25:-Which facility in MS Word enables us to send the same letter to different persons?
A:-Templates
B:-Mail Merge
C:-Macros
D:-Duplicate
Correct Answer:- Option-B

Question26:-In MS Word the shortcut key Ctrl+P used for



A:-Open page format dialog box
B:-Open paragraph dialog box
C:-Open paste dialog box
D:-Open print dialog box
Correct Answer:- Option-D
Question27:-In MS Word Portrait and Landscape are
A:-Page orientation
B:-Page layout
C:-Paper size
D:-All of the above
Correct Answer:- Option-A
Question28:-In MS Word, the shortcut key to copy selected text is
A:-Shift+C
B:-Ctrl+C
C:-Ctrl+X
D:-Ctrl+Shift+X
Correct Answer:- Option-B
Question29:-Which of the following is not a font style?
A:-Regular
B:-Bold
C:-Subscript
D:-lItalic
Correct Answer:- Option-C
Question30:-To select all text in MS Word document by
A:-Ctrl+A
B:-Ctrl+S
C:-Ctrl+1
D:-Ctrl+T
Correct Answer:- Option-A
Question31:-Name of a word document displays in
A:-Status tab
B:-Home tab
C:-Menu bar
D:-Title bar
Correct Answer:- Option-D
Question32:-Formatting in MS Word is performed on
A:-Text
B:-Table
C:-Menu
D:-Both 1 and 2
Correct Answer:- Option-D

Question33:-Function key used to open help window in MS Word document is

C:-F10

D:-F11

Correct Answer:- Option-A
Question34:-In MS Word we can insert a page number at

A:-Header

B:-Footer

C:-Both 1 and 2

D:-None of the above

Correct Answer:- Option-C
Question35:-MS Excel is a powerful

A:-Word processing package

B:-Spreadsheet package



C:-Presentation package
D:-DBMS package
Correct Answer:- Option-B
Question36:-Shortcut key to select an entire column in MS Excel is
A:-Ctrl+Space bar
B:-Ctrl+S
C:-Ctrl+Arrow key
D:-Ctrl+C
Correct Answer:- Option-A
Question37:-The intersection of row and column on a worksheet is called
A:-Cell
B:-Address
C:-Value
D:-Workbook
Correct Answer:- Option-A
Question38:-Which of the following is not a valid function in MS Excel?
A:-SUM()
B:-SUBTRACT()
C:-ROUND()
D:-MOD()
Correct Answer:- Option-B
Question39:-Which of the following symbol is used to enter formula in an MS Excel cell?
A:-$
B:-=
C:-#
D:-@
Correct Answer:- Option-B
Question40:-What is the value of the MS Excel formula =SUMSQ(3, 4, 5)?
A:-12
B:-50
C:-60
D:-None of the above
Correct Answer:- Option-B
Question41:-Which command is used to close the window of MS Excel?
A:-Alt+F4
B:-Ctrl+W
C:-Ctrl+R
D:-Alt+F2
Correct Answer:- Option-A
Question42:-Which application is used for presentation?
A:-MS Word
B:-MS Excel
C:-MS Access
D:-MS Power point
Correct Answer:- Option-D
Question43:-In Power point the dotted areas in an empty slide are called
A:-Placeholders
B:-Templates
C:-Themes
D:-None of these
Correct Answer:- Option-A
Question44:-Which function key is used to start Power point slideshow?

A:-F1



Correct Answer:- Option-D
Question45:-Which shortcut key is used to stop the slideshow?
A:-Esc key
B:-Ctrl+0O
C:-Ctrl+X
D:-Ctrl+K
Correct Answer:- Option-A
Question46:-Which function key is used for checking the spelling Power point?

A:-F7

Correct Answer:- Option-A
Question47:-In Power point, From which menu you can access picture, chart etc?
A:-File
B:-View
C:-Insert
D:-Edit
Correct Answer:- Option-C
Question48:-Which of the following is the default page setup orientation of slide in Power point?
A:-Portrait
B:-Landscape
C:-Vertical
D:-None of the above
Correct Answer:- Option-B
Question49:-ASClII stands for
A:-American Standard Code for Information Interchange
B:-All Purpose Scientific Code for Information Interchange
C:-American Security Code for Information Interchange
D:-Advanced Security Code for Information Interchange
Correct Answer:- Option-A
Question50:-Who is known as the father of computer science?
A:-Dennis Ritchie
B:-Charles Babbage
C:-Alen Turning
D:-Tim Berners Lee
Correct Answer:- Option-C
Question51:-Who was the first author to submit typewritten book manuscript?
A:-H.G. Wells
B:-Mark Twain
C:-Henry James
D:-William D Howells
Correct Answer:- Option-B
Question52:-Brackets in the QWERTY Key board can be found on the same keys as the numbers
A:-1 and 2
B:-9 and 0
C:-7and 8
D:-6 and 7
Correct Answer:- Option-B
Question53:-What does the Shift key do in keyboard?
A:-It lets you type capital letters only
B:-It lets you type symbols only
C:-It lets you type capital letters and symbols
D:-It lets you type numbers only
Correct Answer:- Option-C

Question54:-The step by step movement of carriage is done by



A:-Dog Block

B:-Main Spring
C:-Segment Lever
D:-Carriage Rack

Correct Answer:- Option-A

Question55:-The percentage symbol is above the number

Correct Answer:- Option-A
Question56:-In Demi Official Letter 'To' Address is type on
A:-The top left side
B:-Bottom right side
C:-Top right side
D:-Bottom left side
Correct Answer:- Option-D
Question57:-Who introduced 'Shift key' in the keyboard?
A:-Remington
B:-Underwood
C:-IBM
D:-Blickensderfer
Correct Answer:- Option-A
Question58:-The standard typewriter was introduced by
A:-The Underwood company
B:-The Remington company
C:-Oliver Typewriter company
D:-Godrej
Correct Answer:- Option-A

Question59:-Guide Keys in a Typewriter are

(i) asdf

(i) ;1kj

(iii) fandj

(iv) n
A:-(i) and (ii)
B:-(iii) only
C:-(iv) only

D:-All of the above

Correct Answer:- Option-B
Question60:-Who introduced touch method of typewriting?

A:-C.L. Sholes

B:-Henry Mill

C:-F.E. McGurrin

D:-W.A. Burt

Correct Answer:- Option-C
Question61:-anml agmdmoe QIEITD ale

A:-@nad]

B:- aiey: woiernd

C:-a6muyde

D:-avdage

Correct Answer:- Option-C
Question62:-epdm@a am aeowleo eedmacad?

A:fgo(}d@grm'

B:-oemosgese’

C:-aflaidamo

D:-pvdomgsso’

Correct Answer:- Option-C

Question63:-acorup a)MA®EEs alte



A:-owaso
B:- 200
C:-oroato
D:- alatto
Correct Answer:- Option-A
Question64:-8003 + 90 : ®IOmIE - ruruled?
A:-closwe
B:-annae
C:-@reaues
D:-cenak
Correct Answer:- Option-A
Question65:-gsolad easoomem®?
A-om
B:-2em
C:-oro
D:-ow
Correct Answer:- Option-D
Question66:-'a:on @M @' agMm ERA@OOTIM WAL eI,
A:-coyousd
B:-cjsalload
C:-clayosdm@
D:-cajeload
Correct Answer:- Option-C
Question67:-'m@' agm azElemo wEwI «l@le.agom
Ai-oo + o
B:-mav + o
C-o@ + o
D:-mmd + o
Correct Answer:- Option-C
Question68:-aemd + ld : @eld - ruruleeman’ AemacERE:
A:-@reawes
B:-6aiale
C:-aloue
D:-allose
Correct Answer:- Option-A
Question69:-'megdl' agmAmae AIEIED alGo
A:-ea00
B:-caem
C:-ooed
D:-@omd
Correct Answer:- Option-C
Question70:-wdwow @acaw?
A:-@eniamo
B:-@enimwo
C:-@6nmo
D:-@minze
Correct Answer:- Option-B
Question71:-20008 agan aiBEwlemdo qlelns
A:-0dler]
B:-moeerm
C:-200
D:-mo@l
Correct Answer:- Option-A
Question72:-dwoe @alcad?
A:-@ogumilee

B:-@oggfleo



C:-@ogafleo

D:-@agg)ve

Correct Answer:- Option-B
Question73:-dwo® @alead?

A:-allwomo

B:-allawmo

C:-allomo

D:-allsme

Correct Answer:- Option-B
Question74:-@rmlaind, @emaim - I ERAMA ¢zl ag@?

A:-a600), @ouT

B:-@nur, @og

C:-@0g, ang

D:-s0g, @our

Correct Answer:- Option-D
Question75:-dwo® @alcad?

A-@yoaim

B:-@Jmunoaim

C:-@myoaimn

D:-@munoaim

Correct Answer:- Option-C
Question76:-wdwow aneead?

A-0lgje0d andlweapud aolejeud CoSHQo Oy

B: flajeud anslols adlejeud aos: Salg
C: ey 0d ange) ale®ud TOFHDo Haly
D:-a:oflejeud oflgyeud Salg

Correct Answer:- Option-C
Question77:-Empty vessels make the greatest sound agm moyflett ©2108] MVRMAOD BRILOS. aleE@I0E] B®?
A:-alomo &SOUIMY Haldg calen:
B:-aflosse @gmigy
C:-a0@aBud gsleom wenjo eauBase
D:-@somim o @500 amaui0 6d®:50m caal
Correct Answer:- Option-B
Question78:- el @akb ag®?
Ai-guzo
B:-guae
C:-guilno
D:-gave
Correct Answer:- Option-B
Question79:-dwo® @alcad?
A:-alloiemg
B:-lcierg
C:-lleusmy
D:-flever
Correct Answer:- Option-B
Question80:-eemmua agm arEDleMo GRAMO.
A:-adoyalcdgslges
B:-adlryallem avesniauslsy
C:-adlony pweqgm
D:-adlryalleno @oaile
Correct Answer:- Option-B
Question81:-Read the passage given below and answer the questions that follow. (Questions 1-4)

Ferdinand Magellan was a young Portuguese noble who served at the King's court. He dream of sailing around the world and reaching new horizons. But he became involved in the

quagmire of political intrigue and lost the King's favour. He tried to seek reconciliation, but in vain. He was dismissed from service and joined the court of the king of Spain. He later
created history as the first man to circumnavigate the earth.

Find the synonym of "Quagmire" from the options given below:

A:-Entanglement



B:-Negotiation

C:-Collaboration

D:-Contentment

Correct Answer:- Option-A
Question82:-The past participle of "seek" is

A:-Seeked

B:-Stroke

C:-Sought

D:-Sake

Correct Answer:- Option-C
Question83:-Find out from the passage the one word for "the secret planning of something illicit or detrimental".

A:-Intrigue

B:-Reconciliation

C:-Horizon

D:-Circumnavigate

Correct Answer:- Option-A

Question84:-Choose the correct question tag:
Magellan joined the court of the King of Spain, ?

A:-Wasn't he?

B:-Didn't he?

C:-Hasn't he?

D:-Isn't he?

Correct Answer:- Option-B

Question85:-Choose the most suitable collective noun.
A of lions were basking in the sun.

A:-Gang
B:-Troop
C:-Pride
D:-Herd
Correct Answer:- Option-C

Question86:-Fill in the blanks using the correct option.
If | had seen him, | (speak) to him.

A:-will have spoken

B:-will had spoken
C:-would have spoken
D:-would had spoken
Correct Answer:- Option-C

Question87:-Choose the idiom with the same meaning as the underlined words.
The collapse of the bank was totally unexpected.

A:-a wild goose chase
B:-a bolt from the blue
C:-a red letter day

D:-a blessing in disguise
Correct Answer:- Option-B

Question88:-Change into reported speech:
She said, "I ate the Popcorn".

A:-She said she ate the Popcorn.

B:-She said that she eaten the Popcorn.
C:-She said that she had ate the Popcorn.
D:-She said that she had eaten the Popcorn.
Correct Answer:- Option-D

Question89:-Choose the correct phrasal verb to fill in the blanks:
He is so rude that it is difficult to his behavior.

A:-Put on
B:-Put off
C:-Put out
D:-Put up with
Correct Answer:- Option-D
Question90:-Choose the correctly spelt word from the options given below:

A:-Vaccum



B:-Fourty

C:-Ninety

D:-Dystoapia

Correct Answer:- Option-C

Question91:-Change the voice:
Who broke the window?

A:-Who broken the window?

B:-By whom was the window broken?
C:-By whom is the window broken?
D:-By who was the window broken?
Correct Answer:- Option-B

Question92:-Fill in the blanks using the correct form of the verb given in bracket.
The coach, as well as the players, (be) coming.

A-is

B:-are

C:-were

D:-have been

Correct Answer:- Option-A
Question93:-The bell (ring) before | reached the school.

A:-rang

B:-had rung

C:-rung

D:-rings

Correct Answer:- Option-B

Question94:-Read the sentence given below to find out if there is any grammatical error in it. The error, if any, will be in one part of the sentence. If there is no error, mark the answer
as D.

A:-1 would rather

B:-You stayed in a hostel
C:-Than in a hotel

D:-No error

Correct Answer:- Option-D

Question95:-Fill in the blanks using correct articles.
lam Indian by birth, not European.

A:-an, a

B:-an, an

C:-a, an

D:-both 1 and 2

Correct Answer:- Option-A

Question96:-Fill in the blanks using correct preposition:
India won independence August 15,1947.

Correct Answer:- Option-C
Question97:-Choose the correct sentence from the options given below:
A:-Your need is greater than mine.
B:-Your need is greater than me.
C:-Your need is greater than my.
D:-Your need is greater than I.
Correct Answer:- Option-A

Question98:-A sentence is given in jumble order. Rearrange it to form a meaningful sentence.
(1) Children's book of all time/ (2) About the boy wizard Harry Potter/ (3) J.K. Rowling's best selling novel/ (4) Is one of the most popular

A:-1234
B:-3421
C:-2413
D:-3241
Correct Answer:- Option-D

Question99:-Which of the following words should be capitalized in the given sentence?
She climbed the Mount Everest on a monday morning.



A:-The, Mount, Everest

B:-She, Mount, Everest, Monday

C:-Mount, She, Everest

D:-She, Everest, Monday

Correct Answer:- Option-B
Question100:-Choose the right word to fit both sentences:
Thedoghadaloud .
The of the tree was very rough.

A:-Howl

B:-Paw

C:-Mouth

D:-Bark

Correct Answer:- Option-D



